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(1989) (1990) (1991) (1992) (1993) (1994) (1995)
@ & 974 100.0 102.8 104.7 1058 106.4 1063
& %l 96.4 100.0 104.4 104.7 105.8 107.1 106.0
=% H 988 100.0 102.3 104.4 106.7 1155 106.8
F # ¥ 974 100.0 1051 1086 107.9 106.1 107.5
£ ® & N 96.9 100.0 104.4 107.2 104.7 103.7 1038
2 £ 96.6 100.0 101.2 1014 99.7 973 96.8
2 oy ¥ 95.8 100.0 1038 98.6 976 96.2 94.2
5 ¥ - i & 914 100.0 1115 102.2 1100 109.2 105.1
A @ B % 875 100.0 112.4 94.9 107.1 105.0 99.9
" P 937 100.0 108.2 110.4 977 1033 107.3
£ @ B 936 100.0 107.9 109.9 96.7 103.2 1075
W oM - | %k K 96.7 100.0 108.2 109.7 110.0 109.2 105.6
= ES 5 97.0 100.0 102.5 105.0 105.4 107.9 108.5
= s . ) 95.9 100.0 104.8 105.5 105.1 1035 102.5
o ¥ 98.4 100.0 102.5 106.4 108.2 109.4 109.0
et o 98.0 100.0 102.6 102.4 102.3 104.6 105.8
n = 971 100.0 103.0 104.6 107.2 1092 109.4
= = 98.3 100.0 100.9 104.7 105.5 105.4 108.0
5 = 98.7 100.0 100.4 1041 104.5 104.0 106.8
P A 96.5 100.0 1031 107.5 1098 117 1133
* - Kk H 97.9 100.0 102.5 101.5 101.3 102.1 103.8
| & - 4 o= R 99.4 100.0 1021 1021 1019 1005 100.6
- & e 100.9 100.0 100.0 100.0 99.7 98.2 98.1
7 2 N 978 100.0 105.0 105.0 1049 1038 104.0
s o 5% ™ 76.9 100.0 1132 105.7 108.2 102.4 99.3
EOF ok 1003 100.0 1000 96.7 95.6 1102 1221
& 4 oy 1006 100.0 100.1 96.4 951 98.4 106.9
x &2 - 2 ® A & 101.2 100.0 99.1 100.4 98.9 96.1 955
= @ M W X B 1025 100.0 94.3 95.8 92.2 85.8 86.0
Mo KA - KHE AR 100.7 100.0 102.0 103.2 1031 102.5 1013
= N % 1005 100.0 100.5 100.4 99.8 1010 104.0
& = ” 102.2 100.0 101.9 101.4 1011 965 915
% = % I 97.5 100.0 1038 1061 108.6 109.2 1103
= ®m Om N K 5 1018 100.0 101.6 1025 99.1 945 87.2
K H vy — £ = 1036 1000 1017 105.3 106.1 112.2 114.2
w B R U E W 96.3 100.0 105.0 107.8 107.8 108.2 108.1
& by 95.7 100.0 105.7 107.5 1073 108.2 107.6
#n R 9.6 100.0 101.4 1021 102.1 102.2 102.0
fley [ 95.5 100.0 106.6 108.6 1083 109.4 108.7
s v v . F % 976 100.0 102.9 106.7 106.9 1065 107.9
Sy e — 5 — %R 976 100.0 1031 107.3 1073 106.7 107.4
¥ = i 977 100.0 1021 105.2 105.9 1059 109.2
& P, = 95.8 100.0 109.3 1136 1140 115.6 115.7
oM. f oo B TR M 96.4 100.0 103.9 106.8 107.4 106.7 106.0
M - s # 94.6 100.0 99.6 1015 1037 99.9 96.3
W o s 978 100.0 1043 107.8 106.0 1030 1017
BRI M — £ X 96.4 100.0 1048 107.0 110.3 1136 114.3
= e = 5 99.6 100.0 100.2 103.6 104.6 105.9 106.2
B = el 99.7 100.0 101.9 102.7 1011 100.2 100.6
FRER A S - B A 1037 100.0 95.3 98.7 1015 103.0 102.2
P RER Y — © 2 98.2 100.0 100.8 105.8 1078 1103 1111
2 & & = 98.3 100.0 100.9 100.9 101.1 100.0 99.5
x5 & 98.0 100.0 100.8 1023 103.2 103.6 105.3
Ho@omoE M F 97.9 1000 101.8 1018 102.4 101.2 98'5
=1 = 1006 100.0 97.9 95.7 933 90.2 946
% 5 96.1 100.0 105.8 118.9 126.6 130.9 133.7
= * o = 95.6 1000 106.2 1105 116.4 1218 125.3
K. xEeE®S 98.3 100.0 107.5 108.2 1123 114.4 114.4
p = # =5 96.8 100.0 1040 155.7 1725 1730 1735
# = 18 % 96.3 100.0 102.5 104.7 107.0 108.1 106.4
PE L RS L S 102.4 100.0 96.6 930 90.2 83.6 72.3
oo #H ‘B O, % 95.8 100.0 103.2 106.2 109.2 111.2 1108
2o 48 % B & 971 100.0 102.3 102.8 1048 103.4 1001
=@ - o 5 R 973 100.0 102.2 1113 13,7 1200 1217
HEMEE Y — £ X 94.9 100.0 1040 106.4 110.0 112.2 112.6
= # ) 99.2 100.0 101.2 106.1 107.7 109.4 109.6
MEAE v — £ X 97.7 100.0 1031 1136 1151 116.9 1175
% A M S 9.8 1000 101.0 1017 1031 104.5 1041
B2 o @ v B & 100.1 100.0 100.1 107.8 110.9 1143 115.0
7 i - 100.0 100.0 100.1 100.5 100.7 100.9 100.9
z o it 100.0 100.0 100.0 100.0 118.4 1303 1341
BROMEREER RS 97.3 100.0 103.0 104.8 106.0 106.7 106.2
EHBERERC KRB 07.7 100.0 1025 104.9 105.9 106.5 106.4
e L b & 92.2 100.0 108.4 102.9 103.7 104.1 103.2
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% % % %
SERCEE]  1989Av. 97.4 2.0 97.3 2.2 97.3 1.4 97.7 1.0
24 1990 100.0 2.7 100.0 2.8 100.0 2.7 100.0 2.3
34 1991 102.8 2.8 102.6 2.6 103.3 3.3 103.3 3.3
44 1992 104.7 1.8 104.7 2.0 105.2 1.8 104.2 0.9
54 1993 105.8 1.1 105.8 1.1 106.2 1.0 105.5 1.2
64 1994 106.4 0.6 106.5 0.7 106.9 0.7 106.4 0.9
T 1995 ) 106.3 AN0.1 106.2 AN0.3 107.1 0.2 106.7 0.3
¥ gk 6 £ 1 A 105.7 0.8 105.6 0.8 106.3 1.0 106.0 1.7
(1994) 2 106.0 1.0 1059 0.9 106.7 1.7 105.8 1.2
3 106.2 0.8 106.2 0.6 106.9 1.6 106.3 14
4 106.7 0.6 106.9 0.6 107.2 1.0 106.1 0.7
5 106.7 0.5 106.8 0.5 107.4 0.9 106.3 0.6
6 106.3 04 106.4 0.4 106.9 0.5 106.0 0.6
7 105.8 0.0 105.9 0.1 106.1 A04 105.5 0.4
8 106.5 0.5 106.6 0.8 107.0 A0.1 106.6 0.6
9 106.8 0.3 107.0 0.6 106.8 0.2 107.1 0.2
10 1074 0.9 107.6 1.2 107.6 0.7 107.9 0.9
11 106.7 0.9 106.9 1.0 107.2 0.9 106.9 1.2
12 106.2 0.4 106.4 0.5 106.9 0.6 106.1 0.6
¥ R 7 £ 1 A 106.1 0.4 105.9 0.3 107.4 1.0 106.6 0.6
(1995) 2 106.7 A0.3 105.3 0.6 107.1 04 106.5 0.7
3 105.9 AN0.3 105.9 A0.3 107.0 0.1 106.1 AN0.2
4 106.4 AN0.3 106.4 N0.5 106.8 N0.4 1064 0.3
5 106.8 0.1 106.9 0.1 107.4 0.0 106.7 0.4
6 106.6 0.3 106.6 0.2 107.4 0.5 107.1 1.0
7 105.7 A0.1 105.5 A4 106.6 0.5 106.1 0.6
8 105.9 A06 105.7 109 106.9 201 105.9 AO.T
9 106.8 0.0 106.8 AND.2 107.4 0.6 107.2 0.1
10 106.4 A0.9 106.4 ALl 106.8 A0.8 107.6 0.3
11 108.2 AN0.5 106.3 AN0.8 106.6 A0S 107.0 0.1
12 106.6 0.4 106.6 0.2 107.5 0.6 107.2 1.0
- " x B m X W + 153 H 2 R |
% & |HEEERHLEE] & & HEE@EDIAEER 8 & MuEERLEE
% % %
SERRCAEEYS  1989Av. 97.1 2.3 97.3 2.2 97.0 2.3
2 1990 100.0 3.0 100.0 2.8 100.0 3.1
34 1991 102.0 2.0 102.9 2.9 103.3 3.3
46 1992 103.6 1.6 104.2 1.3 105.0 1.6
54 1993 104.9 1.3 105.5 1.2 106.4 1.3
(3 1994 1057 0.8 106.1 0.6 107.1 0.7
74 1995 105.7 0.0 105.9 AN0.2 107.0 A0.1
S R 6 #£ 1 H 105.6 1.1 105.8 1.0 106.6 1.2
(1994) 2 105.7 1.2 106.0 1.0 106.6 1.1
3 10569 1.0 105.9 0.9 107.1 1.3
4 106.0 0.8 106.2 0.8 107.3 0.8
5 106.2 1.0 106.2 0.6 1074 0.8
6 105.5 0.9 105.6 0.3 107.0 0.6
7 104.9 0.4 105.3 AN0.2 106.5 AN0.2
8 105.3 0.6 106.0 0.0 107.0 0.0
9 106.1 0.6 106.3 0.3 107.3 0.2
10 106.0 0.5 107.3 1.1 107.8 0.7
11 105.9 1.0 106.4 0.9 107.5 1.0
12 105.6 0.8 105.6 0.1 107.2 0.7
o 7T % 1 A 106.2 0.6 106.3 0.5 107.2 0.6
(1995) 2 105.9 0.2 106.2 0.2 106.8 0.2
3 106.2 0.3 106.1 0.2 106.7 N0.4
4 106.2 0.2 105.8 A0.4 107.1 AN0.2
5 106.4 0.2 106.3 0.1 107.4 0.0
6 106.0 0.5 106.1 0.5 107.3 0.3
7 105.1 0.2 105.1 N0.2 106.6 0.1
8 105.4 0.1 105.6 AN0.4 106.8 A0.2
9 106.0 A0.1 106.2 AN0.1 107.5 0.2
10 105.6 A0.4 106.0 Al.2 107.2 AN0.6
11 104.8 ALD 105.3 ALD 106.8 AT
12 105.1 JaN (R 105.6 0.0 106.9 AN0.3
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